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The Actual Question Paper  Contains 40 Questions. The Duration of the Test Paper is 60 Minutes

1.	 The process of collecting, processing and reusing waste materials is ?
(A)	 Rewarking 	 (B)	 Reusing	 (C)	 Recycling	 (D)	 Reprocessing
(E)	 None of these

2.	 Which of the following is correct.

(A)	 (i) Head (ii) Compound Eye (iii) Leg (iv) Thorax
(B)	 (i) Head (ii) Compound Eye (iii) Leg (iv) Wing
(C)	 (i) Leg (ii) Wing (iii) Leg (iv) Thorax
(D)	 (i) Compound Eye (ii) Head (iii) Leg (iv) Wing
(E)	 None of these

3.	 Which of the following represents the approximate percentage of nitrogen in air ?
(A)	 60%	 (B)	 1%	 (C)	 27%	 (D)	 78%
(E)	 None of these

4.	 A loom is used for 
(A)	 Weaving	 (B)	 Knitting	 (C)	 Crochet	 (D)	 All of above
(E)	 None of these

5.	 The volume of nitrogen gas in atmosphere is :
(A)	 780, 840 PPMU	 (B)	780, 084 PPMU
(C)	 781, 084 PPMU	 (D)	780, 008 PPMU
(E)	 None of these
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6.	 The fairy and green bendable stem are known as?
(A)	 Aerial	 (B)	Hebaceous
(C)	 Woody	 (D)	All of above
(E)	 None of these

7.	 Which of the following disease is caused by the deficiency of vitamin B1?

(A)	 Scurvy	 (B)	 Pellagra	 (C)	 Goiter	 (D)	 Beri Beri
(E)	 None of these

8.	 The joint is defined as ?

(A)	 The cushion between two bones	
(B)	 Where two bones meet and move
(C)	 The outer coating of bones	
(D)	 The hord part of a skeleton
(E)	 None of these

9.	 The force per unit area is defined as?
(A)	 Pressure	 (B)	 Weight	 (C)	 Mass Intensity	 (D)	 Intensity
(E)	 None of these

10.	 Solution of salt water is separated by the process is called as ?
(A)	 Filtration	 (B)	 Distillation	 (C)	 Crystallization	 (D)	 All of above
(E)	 None of these

11.	 If 4N Force applied perpendicularly on an area of 20 m2 then pressure can be calculated 
by the formula?
(A)	 Force × area	 (B)	 Force / area	 (C)	 Mass / Volume	 (D)	 Mass / Force
(E)	 None of these



12.	 The name given to the minimum angle of incidence that causes total internal reflection 
is ?
(A)	 Critical angle	 (B)	Hurtz
(C)	 Snell’s Law	 (D)	Angle of Incidence
(E)	 None of these

13.	 If circumference of a car’s tyre is approximately 18 inches, then the approximate radius 
of tyre is :
(A)	 6 inches	 (B)	 3 inches	 (C)	 9 inches	 (D)	 4.5 inches
(E)	 None of these

14.	 Newton stated that for every action, there is :
(A)	 An equal and opposite reaction	 (B)	An equal reaction
(C)	 An opposite reaction	 (D)	An equal and opposite gravity
(E)	 None of these

15.	 The ray, which first strikes on a surface is ?
(A)	 Primary Ray	 (B)	Secondary Ray
(C)	 Reflecting Ray	 (D)	Incident Ray
(E)	 None of these

ANSWERS
1.	 C	 2.	 A	 3.	 D	 4.	 A	 5.	 A
6.	 B	 7.	 D	 8.	 B	 9.	 A	 10.	B
11.	 B	 12.	A	 13.	B	 14.	A	 15.	D


